



Egyptian Mathematical Society
Journal of the Egyptian Mathematical Society

www.etms-eg.org
 www.elsevier.com/locate/joems



ORIGINAL ARTICLE

L'Hospital rule for matrix functions

Z.M. Kishka ^{a,*}, M. Abul-Ez ^a, M. Saleem ^a, H. Abd-Elmageed ^b

^a Department of Mathematics, Faculty of Science, Sohag University, Sohag 82524, Egypt

^b Department of Mathematics, Faculty of Science, South Valley University, Qena 83523, Egypt

Received 4 April 2012; revised 24 November 2012; accepted 29 January 2013

Available online 7 March 2013

KEYWORDS

Complex variables;
 Matrix functional calculus;
 L'Hospital rule

Abstract In this paper, the L'Hospital rule for evaluating limits of complex matrix functions is introduced. We present some specific examples on certain matrix functions showing the applicability of our approach.

MATHEMATICS SUBJECT CLASSIFICATION (2010): 11C, 15B, 30B

© 2013 Egyptian Mathematical Society. Production and hosting by Elsevier B.V.

Open access under [CC BY-NC-ND license](#).

1. Introduction

Matrix functional calculus is a fundamental area of mathematics with wide applications not only to many branches of mathematics but also to science and engineering. It is a connection to many different branches of mathematics (see e.g. [1–5] and elsewhere). In [7], Kratz derived a limit theorem for matrices from L'Hospital's rule. Some applications of this theorem were given to linear algebra and to differential equations. In this paper we derive a limit theorem for complex matrix functions from the L'Hospital's rule. Using this theorem, applied exam-

ples on some complex matrix functions are given. Further investigations and extensions of this topic will be reported in a forthcoming paper.

Throughout this paper, we consider the complex space $\mathbb{C}^{N \times N}$ of complex matrices of common order N . The matrices I and $\mathbf{0}$ stand for the identity matrix and the null matrix in $\mathbb{C}^{N \times N}$, respectively. A matrix X is a positive stable matrix in $\mathbb{C}^{N \times N}$ if $\text{Re}(\lambda) > 0$ for all $\lambda \in \sigma(X)$, where $\sigma(X)$ is the set of all eigenvalues of X . If a_0, a_1, \dots, a_n are elements of \mathbb{C} and $a_n \neq 0$, then we call

$$P_n(X) = a_n X^n + a_{n-1} X^{n-1} + a_{n-2} X^{n-2} + \dots + a_0 I_n,$$

a matrix polynomial of degree n in X . The exponential matrix function and other matrix functions are defined in [1,3,5].

If $f(z)$ and $g(z)$ are holomorphic functions of the complex variable z which are defined in an open set $\Omega \subset \mathbb{C}$ and A is a matrix in $\mathbb{C}^{N \times N}$ such that $\sigma(A) \subset \Omega$, then (see [1,2,6])

$$f(A)g(A) = g(A)f(A).$$

Hence, if B in $\mathbb{C}^{N \times N}$ is a matrix for which $\sigma(B) \subset \Omega$ and if $AB = BA$, then

* Corresponding author. Tel.: +20 0222449053.

E-mail addresses: zanhomkishka@yahoo.com (Z.M. Kishka), mabulez56@hotmail.com (M. Abul-Ez), abuelhassan@yahoo.com (M. Saleem), halla_mohamed2010@yahoo.com (H. Abd-Elmageed).

Peer review under responsibility of Egyptian Mathematical Society.



Production and hosting by Elsevier

$$f(A)g(B) = g(B)f(A).$$

The symbol for the quotient of two matrices $\frac{A}{B}$ does not have a definite meaning. We interpret it as in [8] by AB^{-1} or $B^{-1}A$. These two products are in general distinct, it is only in an exact significance and this can be obtained when $AB = BA$ with B non-singular.

Definition 1.1. We define $X = [x_{ij}(z)]$, $\frac{dX}{dz}$, $F(X)$ and $G(X)$ to be commutative complex matrices for all z in Ω with the following properties:

- (i) $[x_{ij}(z)]$, $F(X) = [f_{ij}(z)]$ and $G(X) = [g_{ij}(z)]$ are analytic functions of complex variables for all $i, j = 1, 2, \dots, N$ in Ω ;
- (ii) $\frac{d}{dz}F(X) = \frac{dF}{dX} \cdot \frac{dX}{dz}$ and $\frac{d}{dz}G(X) = \frac{dG}{dX} \cdot \frac{dX}{dz}$ for all z in Ω ;
- (iii) $\lim_{z \rightarrow z_0} F(X) G^{-1}(X) = \lim_{z \rightarrow z_0} G^{-1}(X) F(X) = \lim_{X \rightarrow X_0} \frac{F(X)}{G(X)}$.

The progress made and connection to the preceding Definition 1.1 can be formulated in the following interesting result, which is considered to be the L'Hospital rule for matrix functions. Our main theorem is stated as follows:

Theorem 1.1. Let $X = [x_{ij}(z)]$, $\frac{dX}{dz}$, $F(X)$ and $G(X)$ be defined as in Definition 1.1. Suppose further that $\frac{dX}{dz}$, $G(X)$ and $\frac{dG}{dX}$ are non-singular for all $z \neq z_0$ in Ω and as well as $f_{ij}(z_0) = -g_{ij}(z_0) = \mathbf{0}$, $\forall i, j = 1, 2, \dots, N$. It follows that

$$\lim_{X \rightarrow X_0} \frac{F(X)}{G(X)} = \lim_{z \rightarrow z_0} \frac{\frac{dF(X)}{dX}}{\frac{dG(X)}{dX}} = \lim_{X \rightarrow X_0} \frac{F'(X)}{G'(X)} = \frac{A}{B} = B^{-1}A = AB^{-1}.$$

To proceed with the proof of Theorem 1.1, some definitions and facts should be adopted as indicated through the following sections.

2. Preliminaries

Definition 2.1 (see [1,2]). Let $X = [x_{ij}(z)]$ be a square matrix of order n ($i, j = 1, 2, \dots, N$). Then, its determinant, represented by $\det(X)$, is defined as follows:

$$\det(X) = \sum_{i_1} \sum_{i_2} \dots \sum_{i_n} (-1)^{\rho(i_1, \dots, i_n)} x_{1i_1} x_{2i_2} \dots x_{ni_n}$$

where i_1, \dots, i_n , represent the column numbers and $\rho(i_1, \dots, i_n)$ stands for the number of transpositions which are needed to bring (i_1, \dots, i_n) to the natural order $(1, 2, \dots, n)$.

Also, the determinant of the matrix X can be defined in the form

$$\det(X) = \sum_{v=1}^N x_{iv} x_{iv}^*$$

where x_{iv}^* is the cofactor of the element x_{iv} . A matrix X is said to be non-singular if $\det(X) \neq 0$, otherwise, it is termed as a singular matrix.

Definition 2.2. For a non-singular square matrix $X = [x_{ij}(z)]_{n \times n}$, the inverse of X is given by

$$X^{-1} = \frac{1}{\det(X)} \tilde{X},$$

where \tilde{X} is, as usual, the adjoint matrix of the matrix X .

Fact 2.1 (see [1,2]). If the $n \times n$ matrices A_i , $i = 1, 2, \dots, r$, all have inverses, then their product $\prod_{i=1}^r A_i$ has the inverse $\prod_{i=1}^{r-1} A_{r-i}^{-1}$; that is, the inverse of a product is the product of the inverses in the reverse order.

Fact 2.2 (see [1,8]). Let the matrix function $F(X)$; $X = [x_{ij}(z)]$ is a square complex matrix whose its elements are functions of the complex variable z . the limit of this function is defined as follows:

$$\lim_{X \rightarrow X_0} F(X) = [\lim_{z \rightarrow z_0} f_{ij}(z)],$$

we write

$$\lim_{X \rightarrow X_0} f(X) = A \iff \lim_{z \rightarrow z_0} f_{ij}(z) = a_{ij},$$

where $X_0 = [x_{ij}(z_0)]$ and $A = [a_{ij}]$ is constant matrix.

Fact 2.3 (see [1]). Let $f(X)$ be matrix function of the square complex matrix $X = \{x_{ij}(z)\}$, we say that $f(X)$ is continuous in a region Ω if

$$\lim_{h \rightarrow 0} \|f(X + I h) - f(X)\| = \mathbf{0}.$$

Fact 2.4. Suppose that $X = [x_{ij}(z)]$ is a square complex matrix of finite order N , whose elements are functions of the complex variable z . The derivative $\frac{d}{dz}f$ of the matrix function $f(X)$ will be defined as follows (cf. [1,8]):

$$\frac{d}{dz}f = \lim_{h \rightarrow 0} \frac{f(X + I h) - f(X)}{h}; \quad h = h_1 + ih_2; \quad h_1, h_2 \in \mathbb{R}. \quad (2.1)$$

Fact 2.5 (see [1]). We say that the matrix function $f(X)$ is differentiable in Ω if the limit (2.1) exists for all $z \in \Omega$.

3. Limits of matrix functions

Suppose that $F(X)$ and $G(X)$ are two commutative complex matrix functions defined in Ω . Also, let $G(X)$ be non-singular for all $z \neq z_0$ in Ω , on the assumption that $X = [x_{ij}(z)]$, $F(X) = [f_{ij}(z)]$ and $G(X) = [g_{ij}(z)]$, $i, j = 1, 2, \dots, N$.

Then

$$F(X) = G^{-1}(X)F(X)G(X); \quad z \neq z_0,$$

$$F(X)G^{-1}(X) = G^{-1}(X)F(X) = \frac{F(X)}{G(X)}; \quad z \neq z_0.$$

Using the algebraic properties of limits and matrices it follows that

$$\begin{aligned} \lim_{z \rightarrow z_0} F(X)G^{-1}(X) &= \lim_{z \rightarrow z_0} \frac{1}{\det G(X)} F(X) \text{adj } G(X) \\ &= \lim_{z \rightarrow z_0} \left\{ \frac{\sum_{s=1}^N f_{is}(z) \tilde{g}_{si}(z)}{\sum_{v=1}^N g_{iv}(z) g_{iv}^*(z)} \right\} \\ &= \left\{ \frac{\lim_{z \rightarrow z_0} \sum_{s=1}^N f_{is}(z) \tilde{g}_{sj}(z)}{\lim_{z \rightarrow z_0} \sum_{s=1}^N g_{is}(z) g_{iv}^*(z)} \right\} \\ &= \frac{\sum_{s=1}^N a_{is} \tilde{b}_{sj}}{\sum_{v=1}^N b_{iv} b_{iv}^*} = \frac{1}{\det B} A \text{adj } B = A B^{-1}. \quad (3.1) \end{aligned}$$

Similarly, we get

$$\begin{aligned}
\lim_{z \rightarrow z_0} G^{-1}(X) f(X) &= \lim_{z \rightarrow z_0} \frac{\text{adj} G(X)}{\det G(X)} F(X) \\
&= \lim_{z \rightarrow z_0} \left\{ \frac{\sum_{s=1}^N \tilde{G}_{is}(z) f_{sj}(z)}{\sum_{v=1}^N g_{iv}(z) g_{iv}^{\star}(z)} \right\} \\
&= \left\{ \frac{\lim_{z \rightarrow z_0} \sum_{s=1}^N \tilde{g}_{is}(z) f_{sj}(z)}{\lim_{z \rightarrow z_0} \sum_{v=1}^N g_{iv}(z) g_{iv}^{\star}(z)} \right\} = \frac{\sum_{s=1}^N \tilde{b}_{is} a_{sj}}{\sum_{v=1}^N b_{iv} b_{iv}^{\star}} \\
&= B^{-1} A,
\end{aligned} \tag{3.2}$$

where

$$\begin{aligned}
G^{-1}(X) &= \frac{1}{\det G(X)} \text{adj} G(X) = \frac{[\tilde{g}_{ij}(z)]}{\sum_{v=1}^N g_{iv}(z) g_{iv}^{\star}(z)}; \\
\det G(X) &= \sum_{v=1}^N g_{iv}(z) g_{iv}^{\star}(z), \quad \text{and} \quad \text{adj} G(X) = [\tilde{g}_{ij}(z)].
\end{aligned}$$

Eqs. (3.1) and (3.2) lead to

$$\begin{aligned}
AB^{-1} &= \lim_{z \rightarrow z_0} F(X) G^{-1}(X) = \lim_{z \rightarrow z_0} G^{-1}(X) F(X) = B A^{-1} \\
&= \lim_{X \rightarrow X_0} \frac{F(X)}{G(X)} = \frac{A}{B},
\end{aligned}$$

where $X_0 = [x_{ij}(z_0)]$ and $B = [b_{ij}]$ is a non-singular matrix.

4. Proof of Theorem 1.1

Let X , $\frac{dX}{dz}$, $F(X)$ and $G(X)$ be commutative complex matrices for all z in Ω . In addition, consider

$$\begin{aligned}
\lim_{z \rightarrow z_0} f_{ij}(z) &= \lim_{z \rightarrow z_0} g_{ij}(z) = 0; \quad i, j = 1, 2, \dots, N, \\
\lim_{z \rightarrow z_0} \frac{d}{dz} f_{ij}(z) &= a_{ij} \quad \text{and} \quad \lim_{z \rightarrow z_0} \frac{d}{dz} g_{ij}(z) = b_{ij}.
\end{aligned}$$

Then

$$\lim_{z \rightarrow z_0} f_{is}(z) \tilde{g}_{sj}(z) = \lim_{z \rightarrow z_0} g_{is}(z) g_{iv}^{\star}(z) = 0; \quad i, j, s = 1, 2, \dots, N.$$

Applying L'Hospital rule in the case of functions of the complex variables z , we have

$$\begin{aligned}
\lim_{z \rightarrow z_0} F(X) G^{-1}(X) &= \lim_{z \rightarrow z_0} \left\{ \frac{\sum_{s=1}^N f_{is}(z) \tilde{g}_{sj}(z)}{\sum_{v=1}^N g_{iv}(z) g_{iv}^{\star}(z)} \right\} \\
&= \lim_{z \rightarrow z_0} \left\{ \frac{\sum_{s=1}^N (f_{is}(z) \tilde{g}'_{sj}(z) + f'_{is}(z) \tilde{g}_{sj}(z))}{\sum_{v=1}^N (g_{iv}(z) g'_{iv}^{\star}(z) + g'_{iv}(z) g_{iv}^{\star}(z))} \right\} \\
&= \lim_{z \rightarrow z_0} \left\{ \frac{\sum_{s=1}^N (f_{is}(z) \tilde{g}''_{sj}(z) + 2f'_{is}(z) \tilde{g}'_{sj}(z) + f''_{is}(z) \tilde{g}_{sj}(z))}{\sum_{v=1}^N (g_{iv}(z) g''_{iv}^{\star}(z) + 2g'_{iv}(z) g'_{iv}^{\star}(z) + g''_{iv}(z) g_{iv}^{\star}(z))} \right\} \\
&= \lim_{z \rightarrow z_0} \left\{ \frac{2 \sum_{s=1}^N f'_{is}(z) \tilde{g}'_{sj}(z)}{2 \sum_{v=1}^N g'_{iv}(z) g'_{iv}^{\star}(z)} \right\} \\
&= \frac{[\sum_{s=1}^N \lim_{z \rightarrow z_0} f'_{is}(z) \tilde{g}'_{sj}(z)]}{[\sum_{v=1}^N \lim_{z \rightarrow z_0} g'_{iv}(z) g'_{iv}^{\star}(z)]} = \frac{[\sum_{s=1}^N a_{is} \tilde{b}_{sj}]}{[\sum_{v=1}^N b_{iv} b_{iv}^{\star}]} \\
&= \frac{[\sum_{s=1}^N a_{is} \tilde{b}_{sj}]}{\det B} = AB^{-1}.
\end{aligned} \tag{4.1}$$

Similarly, one can get

$$\begin{aligned}
\lim_{z \rightarrow z_0} g^{-1}(X) F(X) &= \lim_{z \rightarrow z_0} \left\{ \frac{\sum_{s=1}^N \tilde{g}_{is}(z) f_{sj}(z)}{\sum_{v=1}^N g_{iv}(z) g_{iv}^{\star}(z)} \right\} \\
&= \lim_{z \rightarrow z_0} \left\{ \frac{\sum_{s=1}^N (\tilde{g}'_{is}(z) f_{sj}(z) + \tilde{g}_{is}(z) f'_{sj}(z))}{\sum_{v=1}^N (g_{iv}(z) g'_{iv}^{\star}(z) + g'_{iv}(z) g_{iv}^{\star}(z))} \right\} \\
&= \lim_{z \rightarrow z_0} \left\{ \frac{\sum_{s=1}^N (\tilde{g}''_{is}(z) f_{sj}(z) + 2\tilde{g}'_{is}(z) f'_{sj}(z) + \tilde{g}_{is}(z) f''_{sj}(z))}{\sum_{v=1}^N (g_{iv}(z) g''_{iv}^{\star}(z) + 2g'_{iv}(z) g'_{iv}^{\star}(z) + g''_{iv}(z) g_{iv}^{\star}(z))} \right\} \\
&= \lim_{z \rightarrow z_0} \left\{ \frac{2 \sum_{s=1}^N \tilde{g}'_{is}(z) f'_{sj}(z)}{2 \sum_{v=1}^N g'_{iv}(z) g'_{iv}^{\star}(z)} \right\} = \frac{[\sum_{s=1}^N \lim_{z \rightarrow z_0} \tilde{g}'_{is}(z) f'_{sj}(z)]}{[\sum_{v=1}^N \lim_{z \rightarrow z_0} g'_{iv}(z) g'_{iv}^{\star}(z)]} \\
&= \frac{[\sum_{s=1}^N \tilde{b}_{is} a_{sj}]}{[\sum_{v=1}^N b_{iv} b_{iv}^{\star}]} = \frac{[\sum_{s=1}^N \tilde{b}_{is} a_{sj}]}{\det B} = B^{-1} A.
\end{aligned} \tag{4.2}$$

From (4.1) and (4.2) it follows immediately that

$$AB^{-1} = \lim_{z \rightarrow z_0} F(X) G^{-1}(X) = \lim_{z \rightarrow z_0} G^{-1}(X) F(X) = BA^{-1}.$$

That is to say

$$\lim_{X \rightarrow X_0} \frac{F(X)}{G(X)} = \lim_{z \rightarrow z_0} \frac{\frac{dF(X)}{dX} \cdot \frac{dX}{dz}}{\frac{dG(X)}{dX} \cdot \frac{dX}{dz}} = \lim_{X \rightarrow X_0} \frac{F'(X)}{G'(X)} = \frac{A}{B}. \tag{4.3}$$

It is worth observing that this main equality (4.3) can be obtained by using Taylor expansions for matrix functions (cf.[1]) as follows: For

$$F(X) = \sum_{n=1}^{\infty} A_n (z - z_0)^n, \quad \text{and} \quad G(X) = \sum_{n=1}^{\infty} B_n (z - z_0)^n,$$

with

$$A_0 = B_0 = F(X_0) = G(X_0) = \mathbf{0}, \quad \text{and}$$

$$A_n = \left\{ \frac{d^n}{dz^n} F(X) \right\}_{z=z_0}, \quad B_n = \left\{ \frac{d^n}{dz^n} G(X) \right\}_{z=z_0}; \quad n = 1, 2, \dots$$

Thus

$$A_1 = \left\{ \frac{dF}{dX} \cdot \frac{dX}{dz} \right\}_{z=z_0}, \quad B_1 = \left\{ \frac{dG}{dX} \cdot \frac{dX}{dz} \right\}_{z=z_0}.$$

Therefore

$$\begin{aligned}
\lim_{z \rightarrow z_0} \frac{F(X)}{G(X)} &= \lim_{X \rightarrow X_0} F(X) G^{-1}(X) = \lim_{X \rightarrow X_0} G^{-1}(X) F(X) \\
&= \lim_{z \rightarrow z_0} \left\{ A_1 B_1^{-1} + B_1^{-1} \sum_{n=2}^{\infty} A_n (z - z_0)^{n-1} \right\} \left\{ I + B_1^{-1} \sum_{n=2}^{\infty} B_n (z - z_0)^{n-1} \right\}^{-1} \\
&= \left\{ A_1 B_1^{-1} + B_1^{-1} \lim_{z \rightarrow z_0} \sum_{n=2}^{\infty} A_n (z - z_0)^{n-1} \right\} \left\{ I + B_1^{-1} \lim_{z \rightarrow z_0} \sum_{n=2}^{\infty} B_n (z - z_0)^{n-1} \right\}^{-1} \\
&= A_1 B_1^{-1} = \left\{ \left(\frac{dF}{dX} \cdot \frac{dX}{dz} \right) \cdot \left(\frac{dG}{dX} \cdot \frac{dX}{dz} \right)^{-1} \right\}_{z=z_0} = \lim_{X \rightarrow X_0} \frac{F'(X)}{G'(X)} = \frac{A}{B},
\end{aligned}$$

which ensures our main result. Therefore, we have proved the theorem.

5. Examples

This section presents some application examples to show the usability of our approach.

Example 5.1. Consider

$$\lim_{X \rightarrow X_0} \frac{e^X - I}{X} = \lim_{X \rightarrow X_0} \frac{\sin X}{X} = \lim_{X \rightarrow X_0} \frac{\sinh X}{X} = I,$$

where

$$X = \begin{pmatrix} e^z - 1 & 3 \sin z & 5 \sinh z & \cosh z - 1 \\ 3 \sin z & e^z - 1 & \cosh z - 1 & 5 \sinh z \\ 5 \sinh z & \cosh z - 1 & e^z - 1 & 3 \sin z \\ \cosh z - 1 & 5 \sinh z & 3 \sin z & e^z - 1 \end{pmatrix};$$

$$X_0 = [x_{ij}(0)] = \mathbf{0},$$

$$\frac{dX}{dz} = \begin{pmatrix} e^z & 3 \cos z & 5 \cosh z & \sinh z \\ 3 \cos z & e^z & \sinh z & 5 \cosh z \\ 5 \cosh z & \sinh z & e^z & 3 \cos z \\ \sinh z & 5 \cosh z & 3 \cos z & e^z \end{pmatrix}.$$

Example 5.2. Consider

$$\lim_{X \rightarrow A} \frac{X^n - A^n}{X - A} = nA^{n-1}; \quad A = [x_{ij}(z_0)] = \left[x_{ij} \left(\frac{\pi}{4} \right) \right],$$

where

$$X = \begin{pmatrix} \cos z & \sin z \\ -\sin z & \cos z \end{pmatrix}, \quad A = \begin{pmatrix} \frac{1}{\sqrt{2}} & \frac{1}{\sqrt{2}} \\ -\frac{1}{\sqrt{2}} & \frac{1}{\sqrt{2}} \end{pmatrix}.$$

Example 5.3. Consider

$$\lim_{X \rightarrow A} \frac{X^n - A^n}{X^m - A^m} = \frac{n}{m} A^{n-m};$$

$$X = \begin{pmatrix} e^z & e^{-z} \\ e^z & -e^{-z} \end{pmatrix}, \quad A = \begin{pmatrix} e^a & e^{-a} \\ e^a & -e^{-a} \end{pmatrix} = [x_{ij}(a)]; \quad a \in \mathbb{C}.$$

It is clear that the above examples give a direct generalization to the standard complex case of L'Hospital rule. Therefore our result of the previous sections can be exploited to establish further consequences regarding other several problems in this area.

Remark 5.1. The case both limits $\lim_{X \rightarrow X_0} \frac{F(X)}{G(X)} = \lim_{X \rightarrow X_0} \frac{F'(X)}{G'(X)}$ diverge to $\pm\infty$, should be manipulated separately. It is still an open question to be answered in a forthcoming work.

Acknowledgement

The authors thank Dr. J. Morais for his constructive comments to improve the quality of the article.

References

- [1] M. Abul-Dahab, On Some Convergence Properties of Matrix Functions, M.Sc. diss., South Valley University, Egypt, 2010 (Lambert Academic Publishing, Germany. ISBN: 978-3-659-23592-4, 2012).
- [2] R. Brualdi, D. Cvetković, A Combinatorial Approach to Matrix Theory and its Applications, New York, 2009.
- [3] N.J. Higham, Functions of Matrices Theory and Computation, Siam, USA, 2008.
- [4] G. Golub, C.F. Van Loan, Matrix Computations, The Johns Hopkins University Press, Baltimore, MA, 1996.
- [5] I.E. Leonard, The Matrix Exponential, Siam Rev. 38 (1996) 507–512.
- [6] W.H. Steeb, Problems and Solutions in Introduction and Advanced Matrix Calculus, World Scientific, London, 2006.
- [7] W. Kratz, A substitute of L'Hospital's rule for matrices, Proc. Am. Math. Soc. 99 (1987) 395–402.
- [8] Z.M.G. Kishka, Functions of several square commutative complex matrices, S.S.Q.J. Pure Appl. Math. 66 (1992) 69–77.